
����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ���� ���� CP n �� � �����������





����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ����� ���� A := { 1
n
, n ∈ N} ∪ {0} �� � �������� �� R �� ��� � �����������

���� ���� ���� X := I × {0} ∪ A× I �� ��� � ���������� �������





����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ����� ���� ����� ������� ��� A �� � ���������� X ��� ���� � ��������
������������ ���� ���� ������� ���� ������





����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ���� ���� ��� �������� ������� ����� ��

X = {(x, y) ∈ R2, (x− 1

n
)2 + y2 =

1

n2
��� ���� n}

�� ��� � �����������



����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ���� ���� ��� � ����� ����� �������� 0 → A
f−→ B

g−→ C → 0 �� ������� ������
��� ���� ��������� ������� ���� � ����������� ����� ��� ��������� ��� �����������

��� ����� ������ p : B → A ���� ���� pf = idA�

��� ����� ������ q : C → B ���� ���� gq = idC�

��� ����� ����� p : B → A ��� q : C → B ���� ���� fp+ qg = idB�

������� ���������� ��������� �� B ∼= A ⊕ C� ���� (p, g) ��� f + q ����� ��� ����������
������� �������������

����� ��� ������� ��� ��� ��� ��� ��� ������� ��� ��� ���� ��� ���� �� ��� ���������







����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ��� 0 → A∗
f−→ B∗

g−→ C∗ → 0 �� � ����� ����� �������� �� ����� ��������
�� ���� ������ ��� ���������� ������������ ∂∗ : Hn(C) → Hn−1(A) �� ��� �������
∂∗[c] = [a]� ����� ∂c = 0� f(a) = ∂b ��� g(b) = c� ���� ���� ���� ��������� ���� ���
������ �� a ��� b�






